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1| ARLRHZE | ETFKER | —REF AL |SHSEE KERRIEREEFEBER o b7 Nl v = BT | 14,907,200 | 16,924,600 | 88.08%
2 | ARLEHE | ETKER | —BHEALL gfgaﬁagmﬁﬁifggfﬁfgﬂamiﬁ’ﬁ IR-AHIFE BTN | 217,036,600 | 240,680,000 | 90.18%
3 | ARLEME | ETKER | —BHEALL zfggﬁ&;g?ﬁéﬁ%?ﬁ%ﬂg?%%&eEﬂiF‘aﬁ IR—HKIFE BTN | 69,566,200 | 77,957,000 | 89.24%
4 | AALERHOE | ETKERE | —BE AL ;zﬂfggt’;ﬁ;ﬁ%ﬁitﬁ’)ﬁfg LES TAR—KISE BT | 22,000,000 | 22,663,300 | 97.07%
5 |REEXR| LTKER| —BHEALL £§3Er HEMERRIHIKEEHX EIZx BTN 5,149,100 | 5907,000 | 87.17%
54 90.35%
6 | ARLRWE | ZREEBER | —RBEFALNL (FBFEE LEZ/NERREEMHEIE| BEE-—AIF BT | 42,449,000 | 46,739,000 | 90.82%
7 | ARLRWZE | ZREER | —BBEEALL [FHSEE R NERREEMRELIS BE-AITE BTN | 38,390,000 | 41,283,000 | 92.99%
21 91.91%
B |phuER | pryER | MERy (DIOCE BRTIRRLNSREREN | wpespsrs | s | 1sssoo0 | M |
o |ehuER | rRyER | MERy (DU RETLIENERIRENE | wyesnere | m | 4000 | EEEEE | EE
244 88.56%
10 | AFLRWZE | #BERR | —REFALL :%*D?’Er B4 RRERRESREE TR-HKI=E BT/ | 12,093,400 | 13,872,100 | 87.18%
11| ARLBR=E | S — B EFALL |[FHSEE ASHRERREFEBERT IR-AHIZE BT | 11,008,800 | 12,674,200 | 86.86%
12 | ARl | BEE | —mmeisl |LOSFE AN RESRXERRESX TR-HKI=E BT/ | 10,731,600 | 12,348,600 | 86.91%
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13 | ARLEZHIZ=E | BERER | —RERFAL |SHSEE AIFREMCHFEBREIS o b7 Nl v = BTN 2,105400 | 2,404,600 | 87.56%
14 | AFLBBRI=E | BERE — &R E AR @g%@%gfﬁmﬁ_jﬂﬂzﬁ% IR-AHIFE BTN 7,275,400 | 8,397,400 | 86.64%
15 | ARLRWE | BRR | —BEFANL |SHSEE AESHREMBREFEBRR o b7 Nl v = BTN 7,298,500 | 8,333,600 | 87.58%
16 | AFLEZRI=E | BEHRE —RBEAL |[DHSEE HOADBRERBREFEBERE| IA—XIF T A 7,057,600 | 8,158,700 | 86.50%
17 | AFLRWZE | #BERR | —REFALL gfge@rﬁ B RERERRESRE ITR-HKI=E BTN 4,961,000 | 5742000 | 86.40%
18 | ARLBM=E | BEHE —WREEE AL | RFBEE RKRREEFEXRBRT IAR—HIZE T A 3,911,600 | 4,446,200 | 87.98%
19 | ARLEHZ=E | EFHRR | —WEFAL (SHSEE AIKREEXRBERT o b7 Nl v = BTN 3,011,800 | 3428700 | 87.84%
20 | ARLERHNE | BERS —EEE AL |RFSEE B/ RMRBKBRERIS ITR-—HKI=E BTN 8,604,200 | 9,842,800 | 87.42%
21 | ARLEZE | BHER | —MRERFALNL |[FHSEE 2TORBEMEMAELE TAR-—HKIFE BT4 | 43025400 | 48924700 | 87.94%
22 | ARLERHE | BERS —MRERF AL |FHSEE HEFRBALEDILTE BEXRIE BT | 42,676,700 | 48,257,000 | 88.44%
23 | ARLEHE | BERFE | —BHEFALNL [DHSEE SHEHEERE(ZED1)IE WETE BT/ | 43,129,900 | 48,799,300 | 88.38%
24 | ARLRRHE | HEERE —MRHEFALL |[RHSEE A-AUREBRRISE IAR-—HIZE BTN | 43,143,100 | 48988500 | 88.07%
25 | AFLER#E | EFRF | —MEFALNL (FHSEE RAZKEREBEIE BE-AISE BT | 22,121,000 | 24,508,000 | 90.26%
26 | AFLERMNE | BERS —MREFE AL |RHSEE A ZARREBRRIRIE ITR-—HKI=E BT | 26,030,400 | 29,489,900 | 88.27%
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27 | ARLERR#E | EFRFE | —WEFAL :?Eﬁ]SEr‘ AEREERBANEFREER EETE BTN 4,844,400 | 5,599,000 | 86.52%
28 | ARLRHE | HEERE — &R E AR %ggfr‘ B R EREARESR EEIE BTN 4,838,900 | 5594,600 | 86.49%
29 | AFLER#E | EFRFE | —WEFAL %gg’fr RECHBKIBRRANEER EETE BTN 4,558,400 | 5,276,700 | 86.39%
30 | AFLRRHE | HEERE — &R E AR gg%%%%ﬁﬁmﬂz,ﬁ'ﬁﬂ%*% EEIE BTN 4,359,300 | 4,970,900 | 87.70%
31 | ARLER#E | EHRFRE | —WEFAL z%)ﬁegrf{ frESRBAGHRER(TO o 7 Nl v = BTN 5,946,600 | 6,895,900 | 86.23%
32 | AMLEME | S —HEER R AL Ege’fﬁr ALHR/\R20 S it X EIE TR—KITE BT | 7,519,600 | 8599,800 | 87.44%
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35 | ARLRH#E | EBEREE | —MEFAL E%gﬁﬁlé BREM (W FT(c- &) ZHE EIE BTN | 10,554,500 | 11,627,000 | 90.78%
36 | AfLZRfE | EEE | —HEBRFAL ;g%ﬁ% AEEEHRARARSO2SE | pe_ 1 BTN 3,558,500 | 3,960,000 | 89.86%
37 | ARLRH#E | EBEREE | —MEFAL %;Eeifg“ REA RIS EE DA T EIZE BTN 3,168,000 | 3,300,000 | 96.00%
38 | AfLZfE | EEE | —HEBRFAL @T@E?’Igh REM AR - RERERLKS BE-XIF BT4+ | 11,805,200 | 13,101,000 | 90.11%
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